Invention & Innovation

NITTA

Automatic Tool Changer

NITTAOMEGA ( type M250-CT / type L350-CT / type L600-CT)

BT H AR tass

Installation Guide tengish

3 REHS o

F—FRF VI LF T Sr— DY B

A—,IFVIY—LFIoT%— : LTFATCET D

OEKETOERT
4 N\
= I CORTEREALTE-RYEVET 5L, ERENTEEXE. BEEEASYELE
A ] AREM A BB EERLTLET,
CORTEERLCE-RYIEET 5. BRENEEXIE.
EREESAERASHICEERLTVET,
¥ B COETERALTE-ERYIERET 5L, BRENEEEES, TEENBHICEERLTOET,
A WL IS | | X mEEARET ARRENAESCLEELTVET,
L J

ATC(ZHTE, ED2— ) (FEATHEETELILOTEL, ORVFB LU, ERABICIYM 1T THH THEERMEICAYET,
REMEEZADEE . ATCEEDALELT ARV AT LA ERABIRATLALEELTERL TV ERERBYET .

O #(E

-

A

nl

~
ATCOCHERIZH - TIE, P EadARyc, ERABICONTORE/REMFVNEEETLOERMIVEL
LFES, ARV REMATOREZTIERE. MAITADERFZSVEBZSENNEMSNE LS. R
VAT LR EEBRESL,

[
O

A

REMATERETIES X, AL AV REH, RBRAGEOREREEZHIT O TERARITEL-{FER
ER RSN ATCO RSB BERTE. BRORVEHLEED-H . REOISLDOBEREEELLET .

ATCISDOVWVTORARYFREMATEY M1, TAT 3T EE, REFRBEBISEEVLEERRI, ARy

N GE B || osransEa@maazmn  ERERBYET, AT, RSAR. AEMDT. ATCTOLTH
8 ., MU RIRBSNDH 1L, AREMBBBRERG < BENBYET . )
@ /EXE
4 )

A\ 1& BR

RAERICABRIUTDEBREBT ETLTEEN,

a) FREB LSRRI TOREER, FIHER BAEREV->THAZE,
b) EEEH LSRRI LTOME, ZE, KEMNLHTHE &,

o) EREBCHSRSETOHE, ZE, KEDERENENTHS L,

d) ARIE. TN O—BRIAERICEYBERELFT D TERL TS,

\-

IAHEEPIC, EFICRETER HE, ZE, KEABRAShDE, BHTRRGKELAEZSATEMENHY
Y, CORBIEERRITEISBO AT LERITT, REITEEMNTESLSITLTESL,

J




F—rTFVIY—LF IS r— BRITH AR

1 myaEET s

(HarREm)

ikGREAE

XAHRICETHHECHERE
mRSHAEECBRIEL,

é

ATCERfFH A K (X E)

RALUTF MLOLTF T4V — RA\F RLEHILD =T
\. J

X LRIRENGEATT . ARVNT I TETL—F V=T ETETU— b @M. T4v T2 T T—TVNFRXBEHRNART S
BAELEANARTIEANHBYET . BROHMEMALREZ TSRS,

2



F—rRFIIV—NFIoTr—BAHAE

ATCE Oy RZERY 142 (1)

ED 21— OBAFITFRILE—ER

ESa—)LEE RE o7y Y—JLE
- M5 X 30 SUS (4%) M5 x 30 SUS (4&)
HREES2—L IR N N —— N N ——
EBES1— 2TJT D90 + FOydr | RTIDTDyde + FOydvp
%74 5Nm 5Nm

ROMIK | M5 x 30 SUS (4%) M5 x 30 SUS(4%)

Y—RES2—IL

kLY | 5Nm 5Nm

BTS2 ROMR | M5 x 15 SUS(4%) M5 x 15 SUS(47)
~LY 5Nm 5Nm

- IR | M5 x 35 SUS (4%) M5 x 35 SUS(44%)
wsEIa—N FLY  [5Nm 5Nm

XAV TR A L OFI (B 2 RAL THAL TSN,
HRHFROABIVNZ AR LBALOHF (RE AV 7T EHEE) A
HBShTWADTFETY,

KEBRM OMT HERXBERICIYRGTYET,
ARy MUICERY T HEELHYES .

: - —
ANEE
R EEESIFCEMEICHITT RFELIZATCOETEHS O
B, ERILFH—LGARMD (CAORYFISOOHERZEERAESICLT
BESITLTLIEELY, BOEIITEHhETIT>TLEEL,
Fl:D>0-58-....0L3IHAT

#wHTUL,

THTDEAFIFRILN—ER

L BHALF AR O
type M250-CT [— 20 M10 X 45 (SWEE )
TH M10 x 45 (SWEEFR) on
NITTAOMEGA | type L350-CT REY M10 x 45 (SWEEFR)
TH M10 x 45 (SWEEFR)
type L600-CT R M12 X 50(IL/ % $E) .
TH M12 x 50 (IL/ S ¢ F)

MRS FROFAHIED (BEE) ZEHRL TS,




F—rFvPY—ILF IO v— BT HAK

D Tl kR FaTEERRTS

&=
e A % =
DEFEBR. T7. K. HESEOFFICL THEEERIBLTESL,

ERALERIEF1—T 18 h

Foy(CH) *FoF¥vs(UN) DERERF1—TJ2ELEEZLZNT
{FEEW Y—ILEETSEIBRNANHYET,
T—NHN—FTFvvI(CH)DF1—T . ZoFo v (UN)DFa1—T%
BIRL TSN,
Fa—THIFHRFHEVDKSICERFETRHRICELAA TS,
Foy I ToFev)OIT7—RE L., ZELHREER AL
(BEAFZE0RYNTFTTR) O28ERHYET,

ERATHRE. 7 —HEOMERERYET,
I7—DOFEHEUVEZE. FRARICTHRENTESLY,

N _—
a A i B A
OR Y FBEIERFIZaR 2N Wi &SI
REBEETHERIZHDOTESL,




F—rIFIOY—NFIoTr— Bt HAF

H F4—F 5 EI(ARYRRERD [CFERT AL

: - —
AMNFEE—
=N, m—R-Fa—TH(L
Tr—oJILE)ETSrvrEICE
EL. VI, BENENLSICERE
LTLEE W, £-OARy FBI4ERF
DB/ —OFIZTFHLEL
FSIr—T N EEEELTLES
LYo MAFAD

- J

AANEBR

R T OERICTVALZEmESH
TWAIEERERBL TS,

Y— L

~AEBE

FoFevIF1—TOHh. Klhe
BRAVFDORHOBETITAENS
NEVESITLTESW TP AEMS
NBEDLWERICEETET ., V—
WRINETTEBIASHYFET .

g

HRBRICTOFYvIR—FOIT7 RSN T
WA EERERLTESWN(RERECL) . RE
(Z&Y . ALMSEHEICEETEY ., Y—ILAIHE
TYaBhLBHYET,

ToR—ILFOEH
FOHEK[R— I E1E
HRETASIAE
TLEESLY,

AN EE &

L Y— WV EERLARYMERIMET BRRIE. BT FryIR—MIT7—Z2HHEL TS,

ANER

YAV GTYRREED /O AE LB KES 2 —IL
(CT*H**-0** CT*H**-NS*) DF J— R [, OR Y-
Y—ITEFTRAUEBHT BT I—REFRBYET,

¥reEs)—R:o)a—
DFYRSHAAM (L -5
a—=2 W) #THERLE
=AW

thos)—2EZFEREN
FF LoV T AEELE
KFIEPFEI&Uo'CL,ib\ii'o

@2 — /LAy RO —T JLILERTEE

AORYMIBEES2a—LVOEBIZLTIC
1AmmIBEREILET Dﬂ'f‘ybgjfﬁﬂ#l:’r— | cyvy
TUME >BENDERBOMEET. B [—L] =
ETRRCHHEARETIBAHYET, :

#1.4mm

|E RIS

% =N
H IniE
Fa—7J

BEFER N EEHT D




F—rTFVIY—LF IS r— BRITH AR

L snvssmRT S

~ANEE ~

ATCDF Y (K1), PUoFovI(%2), T4 R (K3) . RUPY—IEFBEBED I 4—OVIDREEIT TS ALDERE. 3
D2DITzA R —HEYIZERL., LEDSY 7 (X4) RIEEEICHRKTT 5 EEFHRBL TSV, 124 —AvIESMNPLCEE D LD
HEHBBRICADSNTNSEFERBL TS, 14— AYIEB DRTEEITOTULVEVDEREE - IRBMEICKY . REMAREFESNT
Y—ILEETIESAREENBYET,

X1 FyvI: WLMNRANTVWSIREETTES X2 7oFvv7 : ALMNACTWSREEZRTES

X3 I/ R :ARYCTFHE FTREY—ITFETEAOBEVNOERENEF L TCLIREETRTES

¥4 LEDS> T LRIESHADKREE RITSERT

NO.1
— 1
| | | I7E#HEMSR
L ' J
DY—IEFEOWER QATCHEMEE DR (TTA R FYvy . FUFvvY)
@%Y—IUNO.B R DOFesE LEDS> T D IE 3 M kTRERR

@ATCERE AT 7 EE T DBAHER
O LRBASAMIA2—OvID—HITT , BEFRDRBIELTRELAF—OVIETHETIESL,
@it (ZIX. BTRIEADNNILTEBEURERMYFHEHERHYET, (BEHICTHBEEBREVLLED)
@ TIHLEAN NIV T ORER(VFHIFE CHERLASLLEVMES X, BERICTRTHOREV AT LADREE1THoTIEITALIBSEEVLLET,

AEE

ERABHA IEGRESEHELES, 7 ayMEBRBLEHIESN, T avyMEBDBE X/ A XFICK HREFD & ITER
REEHFTETETISAREMSBYES,

P TR B

~ABE

ATCEBBIEDRICZARYNVTF T2EY—ILT
HTAOTHHDEEANETTHICENBET
T, FITEMNHIETERLE, ERGEENTE =
BV EDPRLA—XGHEENTERNCENBY

X EEEA, K- RAA—FORMBAOT [:--- | = =)o

BEMABYET, DR OEEA TEFENE  TIE
BETERMES(E. E%‘al::uyj’%;?yxé% #ETD
T:L'CL‘T:T:‘(!Z\%?ﬁ‘ZbUi?'o :|> 547>X (T T T . o ===
ER-LEEATIE, DRy TORYR T A T 4% ,”—s‘ll =
Y LT TR B LY . B EE ,m@,m@!l!__-_ LOLC
FRESERLSICLTTA—FoH LTS,

Wit (T(E. T—F T RENBYET, CHEE _ =ysm
CEYORIT, B CTERESEOLET . FA—F i




F—rTFVIY—LF IS r— BRITH AR

D SR (RIS ) R B

AAEE

OK LRI HERAE

R ABGEORYMERBLAEVEEE, Y—ILAIZSBEL TS,
BRERFTY—ILAIZERTS-007T0—F OB, ALARALTLSC
EEFERBL TSN AADBW=FETERBELIT &N LEOYIE
UIMERLEIRY SETREMASHYET .

NS

~

TUFreyR—b
REFARK

[ ROBOT POWER OFF J

INELEY

O RLLGVMERAE (BRIEOHELELTEHBLIVES)

BIEELE. Y—IAZESETEIENREOBE LFARETHIIES.
TiRE+HSEEESLY,

V— LRl EHELE-FESAIUMNELETZEE(E. TP TEOHEICED
YT F v uIR—REIRKBABL TSV, (REEKEZL)

T o F oy R—bHREBRShTOVEWET 7 DEIYAHZETHLLEIE
L. Y—IEIRETTEBNABHYET , BIFELET DRIV —ILHE
TLEWEBIZLTEIR-AIREOFFIZLTLESLY,

L<TIoFxvIR—MI7RELHHIEH>

O7 FvvHFa—TDHh. hUhp#aER/ U FDOFED
BEICKYIT7ERNEE/-IGE(CESR)

OT=FR— I FPEHADHKR—FHIEBEHIEE TSN
hTWaiEa(cESR)%

SAUBRENICHERTSE
O EREE ICRREMEC X CHEREEN,

L[ FuFevstiot
LT ke

HRIELALA
PLBLLEE

[ J AEELRY . Y—ILE [ J
ROBOT POWER OFF BREBET ROBOT POWER OFF
\_ J
n Wt O EEE
ABE ,
I7EHBLEVEEFEREL-RETERIIEIE. O—TE AT
Y—IILAIRZE T LELESIZLTLEEELY,
J







Automatic Tool Changer
NITTAOMEGA ( type M250-CT / type L350-CT / type L600-CT)

Installation Guide

Precautions for Installation of Automatic Tool Changer

Automatic tool changer is hereinafter abbreviated as “ATC.”
@Indications in this document
4 N\

A nn"GEn Improper use disregarding this indication may result in imminent risk of death or serious injury
of the user(s).

A wnn"I“a Improper use disregarding this indication may result in risk of death or serious injury
of the user(s).

é cA“Tlnn Improper use disregarding this indication may result in risk of injury of the user(s) leading
to disabilities, or property damages.
\_ J

ATC (adaptor and module) does not work alone and is only usable when being equipped on a robot and a compatible unit. For
increased safety of the entire system, it is necessary to consider not only the single ATC but also the robot system and
compatible unit system as a whole.

@Preparation
4 N\
For use of ATC, be sure to observe safety instructions concerning core robots and

A nn"ﬂin compatible lunits. For any work within the robotl safety fence, consider preparing la safety
system design that shuts down power over 50V in any event where a person gets into the

fenced area.

In addition, for works in the safety fence area, be sure to wear appropriate clothing for the

A WAHNIHE work with personal protective equipment such as a hard hat, safety boots, etc. For internal
disassembly works for the ATC, use protective glasses for protection against pop—out parts.

Personnel engaged in installation, programming and maintenance works inside the robot
safety fence for the ATC must have expertise in robot operations (having completed expert
A cA“Tlon training). Additionally, personnel engaged in disassembly and assembly works of the ATC
either in or out of the safety fence must read this document and other relevant manuals
carefully.

@®Work
4 N\

Be sure to check the following items before starting the installation procedure:
a) Welding power source, control power source and driving power source are all shut off before

work.
A nn"GEn b) All hydraulic, pneumatic, and water pressure sources are off before work.

¢) All residual hydraulic, pneumatic, and water pressure is released before work.
d) Note that some connectors and cables may be hot depending on their specifications.

Turning the power supply or hydraulic/pneumatic/water pressure source ON during the
A nn"ﬂin installation work without notifving the operator(s) may create an extremely dangerous situation.
Establish a procedure to always prevent such events for safety in work areas.
g J




Automatic Tool Changer Installation Guide

n Preparing for installation

{ Package components ) % %

Robot side modules + mounting bolts

Robot adaptor + mounting bolts

Instruction ATC Installation
MANUAL Guide

X Please refer the instruction manual about
products more details.

Tool adaptor + mounting bolts

4 )\

0 ©

Hex wrench Torque wrench Plier Spanner wrench  Screw locking Sealing tape
agent
\_ J

% The above is the standard configuration for your reference. The robot adaptor plate , tool adaptor plate, insulator, fittings,
and cables, etc.may be prepared by customer depending on conditions. For details of your configuration,
please refer to respective delivery specifications.

10



Automatic Tool Changer Installation Guide

¢} Installing ATC to a robot (example)

List of module assembly bolts

Module types tem Robot side Tool side
M5 x 30 SUS(4) M5 x 30 SUS(4)
Spot Welding module Screw shape Sori her / olai h Sori her / plai h
Signal module pring washer / plain washer pring washer / plain washer
Torque 5Nm S5Nm

Screw shape | M5 x 30 SUS(4) M5 x 30 SUS(4)

Servo motor module

Torque 5Nm 5Nm
i Screw shape | M5 X 15 SUS(4) M5 x 15 SUS(4)
Hydraulic module
Torque 5Nm 5Nm
Screw Shape | M5 X 35 SUS(4) M5 x 35 SUS (4)
Pneumatic module
Torque 5Nm 5Nm

3 Apply screw locking agent (low strength) to each bolt.
Locking agent application is not needed for the supplied bolts,
to which locking agent is already applied (green mec; mild).

A procedure to attach the insulator varies depending on customer conditions;
it may be attached onto the robot side in some cases.

~/\ CRUTION

Tighten bolts in the order of the For the installation work, set
numbers in steps so that equal ine ropot flange surface facing

force is applied to each bolt. . i
Ex:Tightening screws in a criss- upward at the height of your " /(] ......

cross pattern starting with (1), (2), breast to prevent ATC from
(3) and so on. falling.

Adaptor mounting bolt correspondence table

Model Mounting bolt size Torque
R side M10 X 45(w/SW)
type M250-CT .
T side M10 X 45 (w/SW) e
m
NITTAOMEGA L350-CT R side M10 X 45 (w/SW)
R T side M10 X 45 (w/SW)
R side M12 x 50 (W/Disc Springs)
type L600-CT - =ooen 80Nm
T side M12 % 50 (W/Disc Springs)
X Apply screw locking agent ( low strength) to each bolt. )

11



Automatic Tool Changer Installation Guide

n Connecting cables, hoses and tubes

~ /\ WARNING

Be sure to shut off the power supply, air, water and hydraulic power.

Be sure to connect chuck (CH) and unchuck (UN) tubes
properly. Otherwise the tool side may fall off.

Mark the chuck (CH) and unchuck (UN) tubes accordingly.
Securely insert the tubes to the end to prevent disconnection.
There are 2 different chuck / unchuck air piping, one is the
standard model, and the other is Solenoid volve equipped
model.

Solenoid volve equipped model has only one single air port for
check / unchuck operation.

Please make sure the safety when you operate chuck /
unchuck operation manually.

N\

Standard type

Single tube connection
for solenoid valve spec

Solenoid Valve equipped type

~/\ CAUTION —

Securely tighten to prevent connector
disconnection during robot operations.

12




Automatic Tool Changer Installation Guide

H Checking before teaching (robot operations)

~ /\ CAUTION —  /\ WARNING N

Route and fix the cables, hoses and Ensure that air supply is not shut off Check that the unchuck port air is
tubes (hereinafter cables, etc.) to by bending/twisting of the unchuck discharged when jointing (no residual
the bracket without breaking them. tube and excessive tightening of the pressure). Any residual pressure may
Also, fix the cables, etc. so that they banding bands. When the air supply is prevent normal cam operations and cause
do not interfere with peripheral inhibited, the cam may not work the tool side fall off.
components and work pieces during properly resulting in
robot operations. tool side falling.

KXIIIustratlon @ Y, Make sure the

exhaust ports of
the manifold and
solenoid valve are
not plugged.

~ /\ CAUTION ——

Ensure that grease is applied to
the shaded portions.

L /\ WARNING

Please make sure to provide the air to chuck port when robot is operating with
tool side.

~/\ CAUTION

Electrode

The grease of ‘Non Spill Water module’ @Precautions for cable connection Spring
(CT*HA*—0kk CTHH#*-NS*) is different from in case of seal connector spec -
. —TIN;
the grease applied to the robot or tool adaptor. An electrode on a robot-side power =
Please make sure to use module can move up and down by Gable
Shrinkable

Silicon Grease SH44M
(made by Dow Corning)
for Non spill water
module, otherwise O-

approx. 1.4mm. If the cable is pulled
during robot operations, electrode

may be stuck and resulting in @=<0 @ [—— |. Vo

improper power supply and burnout.

ring will be damaged and So please fix the cables with cable r;l;:,ting X (;r-ir:p-t_erminal
broken. support bracket.
\_ S J

13



Automatic Tool Changer Installation Guide

Interlock check

~ /\ WARNING D

Configure interlock settings for chuck(*1), unchuck (*2), face (*3) and tool presence signals, etc. of the ATC. Check
that the cam opening/closing is properly detected by the three FACE sensors and the respective LED lamps (*4) light up
accordingly. Check that interlock signals are input to the superior control devices, such as PLC. If you are not set up the
interlock circuit, tool side might be dropped when it is operated in wrong way.

*1 Chuck signal: it shows cams are open. %2 Unchuck signal: It shows cams are close.

*3 Face signal: It shows Robot adaptor and tool adaptor are contacting with each other.

*4 LED lamp: it shows the in/output condition of the above signals.

ATC’s LED lamps

Air pressure

—l — o detector

Y S
(MTool presence check ®ATC internal signal check (face, chuck and unchuck)
@Tool NO. identification LED lamp normal ON check

@ATC drive air pressure decrease detection check
@ The illustration above shows an example interlocking scheme for your reference.
Please design safe interlocking scheme appropriate for your facilities.
@We have a Fall prevention system and Safety Switch equipped ATC model. Please contact us if you are interested in.
@Please make sure to use other way of safety system even if you do not use Nitta systems.

/\ WARNING

Continuous signaling is recommended for solenoid valves for chuck / unchuck. Please don’t use one—shot signaling
because it may not maintain the joint due to malfunction caused by any noise resulting in tool side falling.

'/ Check points in teaching

~ /\ WARNING

The connection surfaces of the robot adaptor and

tool adaptor must be in parallel during the ATC

chuck / unchuck operation. Otherwise, proper

jointing and smooth separation may be prevented,

and the electric contacts and water/air supply

ports may be spoiled earlier. If you cannot Keep
maintain parallelism with the robot and its stand, Parallel
you may have to use compliance on its stands to

make an adjustment. In such cases, mate the flat
surfaces by pressing the robot adaptor against

the tool adaptor for proper teaching.

We have a teaching aid Jig, so please contact us Teaching aid Jig,
if you are interested in. Nitta made

-G
o1+




Automatic Tool Changer Installation Guide

Points to check during line downtime (or line uptime)

~ /\ WARNING

~
@®Recommended usage

During the robot downtime, e.g. nighttime or holidays, keep Releasing UHChUCk]
the tool side separated. port air

When you start to operate the robot approaches to the
tooling side for chucking operation, please make sure to
close the cams.

If the robot is going to chuck with the cams open, the cams
will collide with the lock pins and ATC will be damaged.

[ ROBOT POWER OFF J
- J

.

@®Usage not recommended

(only allowed if there is an absolute necessity) < There may be residual air pressure when>
If the tool side cannot be kept separated during downtime due to any  @air exhaust is shut off by bending/twisting
reasons related to the facilities, take due care of the following. If the line of the unchuck tube or excessive tightening
has to be stopped with the tool side jointed, be sure to release the of the banding bands (see page 13): or
unchuck port air regardless of air supply pressure presence. (No residual @the exhaust ports of the manifold and
pressure allowed.) If the unchuck port is not released, the cam may close solenoid valve are plugged (see page 13).

due to the residual air and result in tool side falling. Please move the
robot to the position where tool side cannot be dropped off before line  Points to check before restarting the line
downtime and turn off the electricity and air pressure. @Ensure there is no gap on the joint surface.

Releasing unchuck
port air

.'Not recommeénded way.
('-.__Only aIIoweg'l if it is necessary)

Make sure to move the

tool to lower position
[ROBOT POWER OFFJ as much as possible. [ROBOT POWER OFFJ
\_ J
Precautions for transportation

~ /\ WARNING ~

To move the system with ATC jointed together without air .

supply, use rope to bind them and prevent tool side from falling. Fix by rope, etc.

Q) O

N\ J

15






Hal TERREE ATC
NITTAOMEGA ( type M250-CT / type L350-CT / type L600-CT)

greJUERE

n B T B E 2 SR

o K1 AR FHIEHR

Bl TESHRES: LITFHRAATC

-

A\ TE BR

MRTMFENT. HRRE, FUESHEAERCRAER.

~

= =)
=

MRERFENT. ERFE, FURSHERERCHAEES.

AEE

.

MRTMFENT. HRRE, FURNEREHRGE. B/ LEREVMRIRIFNRIEE.

J

ATC (FiF. RIR) TEpmER, FREINBEA. SHNMLEER. BEAhTRESERRR, FRABEZRATCRIF= M,
EEEHNBARR. ERNMERRHTLIBEE.

O ER

4 N
N A7) | EERATCH. BREESUEA SRMNELER. BEANEARSEARTRSRLE, §
<} BRLRGRIH I NEREAEIIEY SOVIEiE.
/\ BB & || meEEmmorly. ERERa ZoE RPIASZSER. SLSEUNSEGNIIE.
= O | | EATCHIREBSIRIFLE, BT IALLABR CHEMEE, ERIFRIAIRE,
= | | SSATCENBABRMZS. EFEGHEL. RESRELOSHAR, SARESITNEASLMR
/N GE B | | =i @usianssnl) KA. 78, TEEEENmI, NATCHTAME, B2, LAME
AHAEREE,
. J
® {E I
4 N

EHAZEEE, waiERLATILSA.

a) #{T{ELED, WARIERFRERIEEIR, 1=5IRRznOEIE.
b) i#{TEdLRD, WAHSLERREHER SEHKEIR.

o) itT{ElEl, BMEIRHERSENKEPIEREEN.

d) SR HERYESL. BGISAR, BiEE.

TEMELR, MRELVRBEEIAERR. MESEKER, FEEsIRRERRAKS. HSRTEXNAES]
LEXMRSHRSAFURS, LUEHTREEL,

17



BT REHEE RRxAH

MR AMZER + 25EIRET

MEBRANAE + ZIRET

ERARH

XRT R mEFES S
SEEHEES

Aéégéél

ATCZIRGART
(AUERAH)

i@

L 1§ @

NERE FEIRE Hr IRE B EER AR

. J

X LIARITERIARE. NEBRARBMEERR. TRAMUESRR. BSH. &L, BRSERARESNFQRESHER.
SRR EESRAN LS.

Nt

18



BT REHEE RRxAH

IBATC 232 AL (1)

RRRPFIRTT IS

VS e HEEAM TEMW
M5 x 30 SUS (44B) M5 x 30 SUS (44B)
AR IR RETROR - B T E
EeEn HEEHE+ P HEEHE+ P
BB 5Nm 5Nm

= RETRAR | M5 x 30 SUS (41R) M5 x 30 SUS (41B)
{EIRRAESR P N N

BRETHZMR | M5 x 15 SUS (44R) M5 x 15 SUS (44R)
7S
EABR #5E | 5Nm 5Nm

RETRAR | M5 x 35 SUS (41R) M5 x 35 SUS (4B)
48
TR 48 5Nm 5Nm

MISTEIRET g HEE R EN (1GEE)
F‘.%Mﬂﬁﬂgli%jeééiﬁﬂ?&%:@ﬁu (SRR T EBE) -
FEESS -

XBEMRNRERZERARTS.
ERTENRAMZEER.

AANER

BRBIIRBRESIAFSHET ATBHIEATCET, SSNBAE

g, Ehiss. ‘::EEHJ:ﬂEJEEIJHﬂEBEEE. B
fl: TEO—@—06...MIiF, TREEIL.
YWRIFE.
A\ | RELIRIRET— R
0 @o); == )
‘ LB TRIBETRY HARE
REI M10x45 (Higes)
10 b ey A M10x45 (BfzsR)
60Nm
NITTAOMEGA | type L350-CT RRY NAIES R i
P Tl M10x45 (if3ts)
R M12x50 (GEEEREBIRT—i2{#F)
type L600-CT Al M12x50 (REBBT—etEm) 80Nm
L SISTEIRET i HBRUEER (RE) J

19



BT REHEE RRxAH

n FA . IR
~NEE

= =9 mREIE—MEn )
EEUESHE. =5, K. AESAEERAED, |

® CHUCK (CH) -UNCHUCK (UN) BERiSTEREMHE,
BNTESSHTRIER.

O FHicSEEPIHERHCHUCK (CH) . UNCHUCK (UN) H9
SE.

O N TILSERLL, SHESERRIEN T SRR,
® CHUCK (CH) . UNCHUCK (UN) RIECERtREIIEFNR

AR (GERREERRIHNER AMIZSES) .

O BRI SORE—4 .

OFHULAERMESIE, SHKEIR.

9 IRETURE FRR RO

: o=

ANE = \
ENBASNER, P T BhLEEESLRE ST
{RigsLiTE,

20



BT REHEE RRxAH

H THET (NS ASEERT) FOAEIR
N3 =

(| = )
iBIBEEE, REX (LATHRBL i BEIUNCHCUKIR S ERRE. EERERIAUNCHUCKIR OM=SEHER
%) EEEZREFL. DagdE HEMISHEEHESFRESHEE GCRE%RE) . MRBERE. ORTEEEDN
B, iR, [P TRHLENEE SHEEE. ME=SEEE, QKX (E, TENEEENTIEE.
ASMERSRABMNE. ITHEER

ZIERDE, TEMNGIEEYATEE.
E£F8, BRRAREEY.
XEE®

9, - —
: ERERETFE
AANER ES BN,
e nrably
ERAPTREL S L.
TEM - J
INT-
[;%Aﬁﬁllﬂww,—EE%NKMcmxxﬁﬁﬁm%o j
[ J

ANEES ~ANE & ~

FKIRR ( CT*H**-0**,CT*H**-NS* ) {EFAY o MMER R SIE AR AR RES
WBiBiE, SRFEMRAN/TRMAE LaYiEE =R A ML RIERABIREL T1.4mm

BRI, RIS, S AIERIRLIRAY #ZFJL] =
iE, SIEFERNMIE, JaaREERR | | ///r_

AWMmm

iR e

i5ERASARIEER

iaigkE: EWmigkE RekE IR,
SH44M (%R - &
BTERAR) E/
HittaYigiRiESSH
EEIFIZAIRIA.

(&

et
A

33

T
-

21



BT REHEE RRxAH

n HAES!

SAEBE \

IBIREATCRICHUCK (%1) , UNCHUCK (%2) , FACE (X3) REINMBITECHESHFMES. SiHiASHSREOHRFA,
3MERTRIMEREELIRLEDR KT (%4) MIEEMBLT. SHIARHESEHRATIPLCH LAHEFEE. MERNEEEHESANE,
AR ENRIRMEARFMSERETRISENZ LS,

¥1 CHUCK: {ROABKIFADHES X2 UNCHUCK: FROEASIKSHES

X3 FACE: NBANFFHNTIRENSFOEEMEZZWUSIKEES X4 LEDIT: ARITREFR LEEICHHESIAE

NO.1 NO.2
[ | .I |
—5 —9
SERNEE

S 1 r o )

N | 7
(OWM=Fahvi:i]:1N QATCHEMESHAIA (EEFIA - & - EB)
@& T ENOIRBIFIFIA LEDE/RATAIIEFEEBXTAYFRIA

@ATCIRENSER FEXIREIA

® LEEEHN—1FIF. SiREEFIHSEFRITRSNEH.
OELNTHE FHLURZLMUIAE. (FSFLE/K)
OMRARERETHLLURZ2H, FER—EERTRERSENE.

AEE

%Qiﬂ.jglﬁﬂgﬁ%ﬁﬁﬁﬁi&ﬁ%%o BEAEERRIRES. BRXESBEZSTHSIRIREE, FEEFEISCHUCKIRE, &6
=lJalBe.

A

AEE

EATCE R, SBaER, N=BAMFEHIEN
FHREMENZEFTH. MRFEELESFITE,
PESHALEIERAERLAR R REIRGRI S E. ©

r=Y

54, BSER, SK, SSOEAURERER.
NBASTREZIROFSTERIUERNERT, 2 E... ==

B EERE TN, SFSIENEE, 4 W e
NEAERHNSLNEASENEANSHEE 5
TEMNSE, GraBREEs,

FATTRMTHE, WRFEERIRE.

22



BT REHEE RRxAH

n ARSI (BTN FAETR

e
a Zﬁk.%%% = I
OIS
BiE, FEESNBEAFTENRR, SETENSE, 475 NCHOCRERD
B EEE TR, SEANGER. MEOSKFR =il
STHHTEE M SISETIRIE, Srsania, 5
=
[ ROBOT POWER OFF ]
N — y,
N

AINE

oRIEFRIEARNE (HFRFFRERSRXEEMAIESR)

REFELN, AFRSENREAIRUAERSBNERT, BRS
HEELUTSEIR.

TEMEEHRS TEFERELN, AFEEXSESESERO
S (EEE) MRS BIROZEFE, BUEEANZSHREND
sliEOialE, SBIRMET.

IREELR, BFEIRUARIARSETRESEXARENZES -

< PBEIROFEZSIKENSH) >

HEWEMINZG, BRI GEHEEITRFSHE SR
(BERSE21R)

«HSE. BEHBENHISOREFERNER (SRB21R1)

& EBIEERRIAEIR
CIEIBAEEERBER.

o~ A % [ UNcHUCkEO
| \ | ke

Wi BEEE
EBEAER -

B oI gERU%
[ROBOT POWER OFFJ IEE@I%‘E [ ROBOT POWER OFFJ
\_ )
n ST R
- =

" Zﬁk,%%% = i )

FLETHISE, ESBHSIEENIASTRE, SRaFE 4

TEHNEE. mﬁ§%

ExE
Oy ©Ox

\_

23




Automatic Tool Changer Installation Guide

Contact information

CHRWIFRALGRBESTVELEL, FTRETEHAVLEHELEEL,
If you have any questions or concerns, please contact us.
MREEHARDTEE, BRI TANESHIEE,
—wABXEH —va- L7 —EEE

NITTA CORPORATION Nitta Moore Div.

KBtk <0saka HQ>
TEL. +81-6-6563-1271

FAX. +81-6-6563-1272

HEXE <Tokyo Branch>

TEL. +81-3-6744-2725

FAX. +81-3-6744-2707

A EEBXJE <Nagoya Branch>
TEL. +81-52-589-1321

FAX. +81-52-566-2005

Z5E T8 <Nabari Plant>

TEL. +81-595-64-2916

FAX. +81-595-63-9527

BERERR (BN BRAE(IH)
<NITTA MECHATRONICS (CHANGZHOU) CO.LTD. (Plant) >

TEL.+86-519-6988-1818

FAX.+86-519-6988-2988

FEKERR (BN L3 AT (RFEHS)
< Shanghai Branch of NITTA MECHATRONICS (CHANGZHOU) CO.LTD. (Sales) >

TEL.+86-21-6278-9192

FAX.+86-21-6278-9193

E-MAIL

£ EA. BNXIEIIE <domestic/international >

mecha_info@nitta.cojp

—VIHKRIEHM
NITTA CORPORATION

KABOREIT2024F9IAREDHDTT, AR OHB OO T ELNEBEEET HEMNHYET,
HAECEBRESNBERREETEHYEEA, XABNORITEREZREILLET,
¥ The contents of this book are as of September 2024. Specifications are subject to change without notice for product improvement.
¥ The values in this book are not guaranteed values. »¢Unauthorized reprint from this book is prohibited.
XAPHINBR2024F 98 BATHIINK, TTRESB AT RIS RMELERENIER FERNSHIE R,
KAPHICHAVBEFIHMRIEE. X 2R, ATCTG3-02



